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( Understanding Political Theory )
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Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed (any ten) :
1x10=10

TS IR o S el (R e wedl)

(@) Who is known as the father of political
science?

JEaife @e o9 I I @R =]?

(b) “Man is born free and everywhere he is
in chain”—said by Aristotle/Hobbes/
Locke/Laski.

“TiEI T8 2 &1 ;% e 2 e
T GR PIR e G e /G /AT
=% |

( Choose the correct option )

( ®m TGl R Sferedt )
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(c) The behavioural approach to the study
of political science was originated in
UK/USA/France/India.

SIS (@ G 4T s 2R
REGS /RIS /TS /TS|
( Choose the correct option )

( wa Saqo! 3z Sferedr )

(d) Legitimate power is called as
( Fill in the blank )
QY BT L= corat =)
( e o1 o/ T4 )

(e) Feminism is a protest against what?

MR =13 [@ifEs @2

(f)/ Name one supporter of post-modernism.

TEI-HYToRMA &= AP A9 fordi |

(g) In ancient Greece, City-State was called

( Fill in the blank )

it oS FE-APHZT PRI 2= |
(A 3 57 T4 )

(h) Name one liberal theorist.

OHS SRR SIS Y i
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() What is Liberalism opposed to?
S feza fcatfaet w2
(i) Totalitarianism
RERIRI T
(ii) Authoritarianism
FEAH
(iii) Socialism
IR LT
(iv) All of the above

SAYY ABCA]
( Choose the correct option )

( W= Seqel ik Sfersal )

(j) Marxism regards State as a

Tfam g 6 I Siw?

() Natural institution
Ao A

(i) Social institution
AT 12

(iii) Class institution
cIq A

(iv) Welfare institution
eI

( Choose the correct option )

( = Sadn! Jifz Sfesar )
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(k)

(1)

(m)

A23/449

Which one of the following is not a

normative approach?

e (P HWS /A= TS 4R wZH?

(1) Philosophical approach
i gt

(ii) Legal approach
H2A 4=

(iii) Systems approach
YISO GG ER)

(iv) Institutional approach
AZITS 49l

( Choose the correct option )

( wm Teqt iR Sfersar )

Name one post-behaviouralist.

GG SEI-HGIRTT Y o7 |

Mary Wollstonecraft is a liberal/radical

feminist.

Gl STRHFIY @R SRR/ FIAAR

RN ifRA |

( Choose the correct option )

( ®=m GBIl iR Sfereat )
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()

(p)

A23/449

“Democracy is a government in which
everyone has a share.” Who said this?

“sioreg (22 G 9Bl BIPIAl AfEEl TS AR
qAMEg SR FARE @I (FRE ?

(i) Abraham Lincoln
iR fore

(ii) Dicey
2o

(iii) Seeley
gl

(iv) Bryce
GIED

( Choose the correct option )

( wm Se0! iR Sferedt )

Who is the author of the book,
The State and Revolution?

The State and Revolution N FI+F
WXPGE FIH?

Name one scholar of participatory
democracy.

RS SNTEFd G L A et |
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( 6 )

(@9 Who wrote the book, Leviathan?
Leviathan FI¥3 ST @I &2

() Mention any one feature of behaviour-
alism.

539 I @I 9ot )Ry Sy 4l |

2. Answer very briefly/Write short notes on any

five of the following : 2x5=10
Fpey Baq forsl/ere fraPTaz’ R @ ict +ivoR wife
5y (oIt %1‘41 :

(a) Mention two scopes of political science.

JEAfe R 9ol e Sy 340 |

(b) What is the first wave of feminism?

AR Ay G 2

(c) Name two proponents of libertarianism.

e qom NP A1 fordt |

(d) Bring out the sex-gender distinctions.

Aigfor o =% AWfE forse qreq ez
fert |

(e) Historical materialism

IfegPe ILIM
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(f/ Did post-behaviouralism reject behav-
iouralism?

TEL-HHAERIT  SHIRMT Ao FafRe
52

(g9 What was the central thrust of
enlightenment project?

G Sevlee 76 g%y @ wifee?

(h) Mention two major devices of direct
democracy.

For® siTogd 7ol ¥o1 17 2

(i) What is First Past the Post method?
A (BAR @RI TS 62

() Michel Foucault
e R0

3. Write short notes on any four of the following :
5x4=20

wote Frapyzd @I BifRGR 89aS 59 @GRt ferdt

(a) Class struggle
IR S
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(b) Elements of post-modernism

TEI-JYfFOrma SAMTTIZ

(c) Challenges to the idea of democracy
SHTCFT (R SS TR OIZPTE

(d) Behavioural revolution

HqI5IAma R

(e) Participation and representation in
democracy

FTSFTS AR H® sfefafag

(f) Features of historical approach

afszite R @EEPTHR

(g9 Marx on democracy

SITeEd 8RS W 4l

(h) Traditional view on politics

QGRS SqS AT FlesR!
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4. Answer any four of the following questions :
10x4=40

wee il eERd & @I oifRtR 8w fort

(a) Define political theory. Discuss its main
features and dimensions. 3+7=10

Ao ©gd 7@l Tl | 239 2 &Ry i
frpTza SoaS Hienal 341 |

(b) What is liberalism? Make a comparative
analysis of classical and modern
liberalism. 3+7=10

T 57 AeaIsTS SIF Wi SHIRAtd
9B TR YT wifS 44|

(c) Attempt a critical appraisal of libertar-
janism and explain its key ideas. 10

ferm@ ¢S @Bl HIEEANEE TR
SRTERI S 2R ey gReTPR fordl |

(d) Describe Marxist view of political
theory. How does it reject the liberal
view? 6+4=10

IEAfeT ©ed WEW yRew I 9|
3 @ERT SHIRME Ao FE?
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(e)

(9)

(h)

A23/449

( 10 )

What is an approach? What are the
traditional and modern approaches to
political theory? 2+8=10

et 4t gl 62 I@iafos ©gd Aa=AqsTS

F iy gieeh ¢ 69

Critically examine the main features of
feminism. What are the differences
between liberal feminism and radical
feminism? 5+5=10

D151 1 B A b R B [ T | RS A
i T W o B ) L I O P
JavE Siere e fF 2

What is post-modernism? What are its
salient features? 4+6=10

Tel-SigfFTeRm 7 W oouie  Q@REEFTR
fo &2

Discuss the concept of democracy. Do
you think India is a successful model
of democracy? Explain. 5+5=10

SToFd YIRAIH HEDAl 41| SIRoIET T
STeFd Yuue 2Bt SR ? Ui 4 |
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( 11 )

() What is the deliberative theory of
democracy? Discuss its key features.
4+6=10

AT SITogd ©F 92 29 Jo1 IFBrmez
SICEAS 4 |

() Examine the principles of procedural
democracy and discuss the case of
procedural democracy vs. substantive
democracy. 5+5=10

dfeFmsre At mmfoste siTege AT AW
4 GiF dfFuers saeg N @ ATemd
SALS HIEADAl F41 |

* ok ok
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